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T 2 O AT GofF BRI (30R (IO t seconds N9 T
T=(R) | T 219 99~ S5 HCATE FIHFACGE TG JT9F 4.5 kg m? =N,

Question:
FIFALEE SO oo RIS (19 ST 2 57 11 ofg Se ey
=X xswm=x |
™
Topic: Physics-Section B
Item No: 60
Question ID: 11694060

Question Type:

Numeric Answer

m ©99 JGT I FTHONG SNFCA RIS (X0R 2 m UIF T A6 I &=
TS q (IS W9 T20g | AINIGIE ATHE TN A0S LS A0H | JOH6!1

Question:

A0 ALY 1 HA SHOIE WS = — |+ NH =W |
!

Topic: Chemistry-Section A

Item No: 61

Question ID: 11694061

Question Type: | MCQ

an Vi
AT D-9[c]P G 250 g 49 wd [RBI0] 10.8% Pl H[(R]
[, oy — ey

Question: AIALGR [NPLON N’ 2°d (M SR ARO[ ©F
H.1;C.12;0.16)

A 1.03

B: 2.06

C: 3.09

D: 5.40

Topic: Chemistry-Section A




ltem No: 62
Question ID: | 11694062
Question Type: | MCQ
TS 70T Ofer Al 261
O I 0,. Cul™, Fe’ ™ GRS (FFAS B4 ULA0Nd WH NS X W FHRIW
Question: (P9 AR (7S FEHE| 2|
" ra
O I1: NaCl, H,0 TR (Fas [I9(31S s Heond pasas =31
8999 Ofers Iee, [NEEEe [RFge 99 WoRetd 6Te bed J1g
Sferaan
A: 5@ 1 W19 \Of @ 11 ALAIBI2 o)
B: Gf@F [ 16 Of e 11 ALR513 OI57e]
C: Ofer 1 o7 &g OfF 11 =57e)
o i ] i
D: Gl I W) (6@ Ol I 7oy
Topic: Chemistry-Section A
ltem No: 63
Question ID: | 11694063
Question Type: | MCQ

GeT® A0T Ofe (MU SWITR | 6T *5TH& A W W6l F1E9 R B
fofze IR =

f*erufe A TEGUG=E 25 W=RGAL =& [@farse 2 wef[eaeis

Question: @Gl
FIR R: AP BIRIGAS (SHNFSF) AP WRALGARIE =S AN
STSYT LIS FACH] 05T B 1|
8999 Bforg W (WIS [Tege € ©F Gus 9y ofesd|
A: A I R ILTG13 &% I R 20 A T &% 47|
B: A ¥ R TTA0I2 &7 3 R, A T &5 047 7= |
C: A &7 [FE R &5 927
D: A &7 =1 [$8 R @7
Topic: Chemistry-Section A
Item No: 64
Question ID: 11694064
Question Type: | MCQ




©eT® HOT Gfer (M3 =g | BT fN6TH& A ST =61 S99 R 2o
fofz® Fa1 27|
fA*5TaTS A: CH, Ol e BILPIe (IR TSN SO, WIHTHITE

Question: EAGH
FIRE R: TG GIFETE QR FY AMF S G691 AFH (STRIAE =00
ST =7
S9FF Of s WS (RS [FFge o6 @% Ges IR Gead]
A: A T R {IHIGI2 &% O R 7 A &G 747
B: A 9 R {IWIGI2 &% (& R, A § 9% 147 427 |
C: A &7 [FE R &5 927
D: A &7 N2 (% R @5
Topic: Chemistry-Section A
ltem No: 65
Question ID: 11694065
Question Type: | MCQ

BT SRS JIGT A T 2% Gels 549 Goddle, A6 S={arl #1497 B § 8%

Question: Tl 549 GOl FE TN | A ATE B § WGE AHF 999 555 2

A: M, =4Mp

B: Mg =4M,

C: M, = 8Mjp

D: Mg = 8M,

Topic: Chemistry-Section A

Iltem No: 66

Question ID: | 11694066

Question Type: | MCQ

Question: W B GLoT =6

A: K 9 Y SR GNP Na o Li BiF S|

B: Xe T 209 353 0590 AT ANFIT AN T HAGIZSLF S
DEE

c. AT FLLI 37 T G AN ATANF I NN WA AGAEGF
YT 38 F (NeTo(F A

o Ga T 2/ TSI JNAANF T -FTF G, 9 ATHES 340
30, SOl (I

Topic: Chemistry-Section A




Item No: 67
Question ID: 11694067
Question Type: | MCQ

NEES (FHEE TG (FIA 8TeY SFFITe 970 200

A. [R5e=
B. WAIHET
Question: c. e fHrerge
D. fFleT
E. ¥loo
ﬁ_ﬁ%ﬁg ﬁﬁﬁ?{ REIR<I] WH@@%@@T o8
A: (Pd«IBHAI¢D
B: (PITA.B.DHIPE
C: (PdsIB.D HIL E
D: (FPITA. CHILE
Topic: Chemistry-Section A
Item No: 68
Question ID: 11694068
Question Type: | MCQ
el 5l Gfes (M =&

O [ WIHF W SR TLH6] WHTN0S TRGIGH (HFTIR0G

Question: GIETFS] 2B OF 73 A
O I1: 208 K © I2GIGH (ARG 949 D,0 OLF |
8999 BT WS (NS [[AHgT o€ &5 Gad g GeEed|

A: 5 [ S Ofer 1 FLHG12 o)

B: Of&F [ W% \Of @ 11 ILNI012 SI5Te)

C: OfeF [ o] [&F Bfer I o)

D: e 1 T5T9) (@ Gl 11 579)

Topic: Chemistry-Section A

Iltem No: 69

Question ID: 11694069

Question Type: | MCQ




TS A0l Gfer (MW T4
O I Be 1% Al T Cl OTQ3% 515 W1 HLA0 (G4 (151 Halwo =
I 2R SF9 [R6I0F 9IS 77|

Question: O I1: Be &1 Al ¥ 2AGHIZG So{@ 0 Ao 2T 9F M
(RFTEG W= D S|
8949 O @] W (HHEIS [AHgd o[ &% ©ad 90y Geed|

A: G 1 ¥ B 11 HIRIG12 o)

B: e [ @I G 1 HLAGI2 STe)

C: e 1 5797 (58 e 11 57ey

D: f e 1 o0Te; (58 @ 1 7oy

Topic: Chemistry-Section A

Item No: 70

Question ID: 11694070

Question Type: | MCQ

TRFIARE (PG W ARG AP FT® WOIROLP (IR A HGH

Question: oI TR
A: AETTZEAR ARG
B: TR FREEF ARG
C: TEEAES B0
D: NET TREES 4G
Topic: Chemistry-Section A
Item No: 71
Question ID: | 11694071
Question Type: | MCQ

weTw 01 5ies M =e1

Question:

B I: W12 (II1) WHE0, ARG K,Cr,0, WE ¥ KMnO, BIIIH
I, (1 §ogelld GiET $9< 09 9IR|

i@ I1: ARG WY AIRFP I AP0 A pr—pr AN AR
899] BT WS NS [AHg9 o€ &5 Gad g GeAed|

Ofer I W% Ofe 11 TLHIGIR o)

Of e [ I Gfe 11 HLIT612 ST e)

b il { b il
Ulee [ Aol [ i 11 )

Ol Z| >

Ofer 1 ©eT (5@ Bf e 11 o7




Topic: Chemistry-Section A

Item No: 72

Question ID: 11694072

Question Type: | MCQ

Question: Mn,05 9 P TS Mn=0 aﬁamﬁm i
A: 4

B 5

C: i)

D 3

Topic: Chemistry-Section A

Item No: 73

Question ID: 11694073

Question Type: | MCQ

BIfFTBT — 1 F SIfBT — I T (3709 el BT -

CIGEI R SIfeIT 11
LR ES (AT ST AT SFHET
ARECPE  (>5000 1 NCEr (QUATST
ppm)
Question: B WIZCG0 ( >50 ppm) | 1RO WO FOFIGH
el
¢ (715 (=50 ppb) . (G Bell (AN
D. ¥ 912G (> 2ppm) [V_Q_ﬁ?@
BB |GIECIEEE=E R EIRC FRURE KN PRC BRI

A: A-IV. B-L. C-IL. D-III
B: A-IIL B-I. C-IV. D-II
C: A-IL B-1V. C-I. D-III
D: A-II. B-IV. C-III. D-I
Topic: Chemistry-Section A
Item No: 74

Question ID: 11694074




Question Type:

MCQ

GeT® HOT Ofe MAT SR | 46T f5THIfe A W% S-6T FIS9 R 2613
fofz® F1 27|

e rIf& A: [6] L_J-;u?w [ 8] A=Ife . F&Q-[m ﬂﬂ]‘%ﬂwcﬁﬂ-[lﬂ]ﬂqﬁw
FATECA 4

Question:
O O L
[6] Annulene [8] Annulene : -
cis - [10] Annulene
FEY R: JICNHB WE AA-IILAGF BFL TN 26 JBT ATIGH |
8999 Of e Waws [WHf e [REgT o[ &% S AR Giesd|
A: A T R ALIGI2 @5 O R T A § &5 747
B: A T R (NI012 &% (S8 R, A T 9% 74 72|
C: A &7 58 R &5 927
D: A &7 =Y (F@ R @57
Topic: Chemistry-Section A
Iltem No: 75
Question ID: | 11694075
Question Type: | MCQ
CH,OH
+HCl—2 5 AN,
Question:
OH
Geqd] B @994 f[Rf e =4
CH,I
A:
OH
CH,I
B:
I




CH,CI
C:
OH
CH,CI
D:
|
Topic: Chemistry-Section A
Item No: 76

Question ID: 11694076

Question Type: | MCQ

SIfFTFT - [ T SIfFART - 11 T (S [Na 34 -

IGES| IGEai|
FSUATN JITANGS w19

A [Fee O SROEoTeG| 1 2E96E
@fem

B.13- JOEIGIEA O II. e (e
Question: B EEEMETEI B

C AEPA W AP 11 gA1-S

ARG AEER

D. 25 WIE (GRS | IV (G
ARG #AfFER

fafal g o= &7 Ses A1y Ofasd ¢

A: A-IL B-III. C-IV. D-I
B: A-IL B-III. C-1. D-IV
C: A-IL. B-I. C-IIL. D-IV
D: A-IIL B-II. C-IV. D-I
Topic: Chemistry-Section A
Item No: 77

Question ID: 11694077

Question Type: | MCQ




AT *F4T <X WP NETHS 99 TR ANE [N (2 My TIFe.
Question: TS REabaas 5o [Riseare (ST Fee Mg I8 Gregar | =631

X R
A: G (B G
B: IG5 (6G &
C: WP ARG
D: 6 oE™
Topic: Chemistry-Section A
Item No: 78
Question ID: 11694078
Question Type: | MCQ
SIfFTFT - 1 T SOIFHT - 11 F 70S [Na 341 -
IGEIRI
1 ggeas
A
OH 1L (BNOLF 550 & THE
fara
B.
- CH; CH,
Question: Ay
NHNH, I SV (F9T=IR]
C- @\/
ﬁ V. AEIAET
C N
D. NH
o/
47N
U/ O
fafafds Tegs o" w7 Tag AR Bfasa
A: A-TV. B-III. C-II. D-I




B: A-IIL B-1. C-II. D-IV
C: AL B-IV, C-1. D-IT
D: AL B-1. C-IV. D-II
Topic: Chemistry-Section A
Item No: 79

Question ID: 11694079

Question Type: | MCQ

(ZUGAS [MENS 2K F4 (HINR @09, 0.45 ¢ I 451 (GF (912

Question: fATT 0.36 g AgBr | CTSEIE I *1S1e=1 eS| (AgBr T el ©F = 188
¢ mol ! - Br:80)

A 34.04%

B: 40.04%

C: 36.03%

D: 38.04%

Topic: Chemistry-Section A

Item No: 80

Question ID: 11694080

Question Type: | MCQ
ST - 1 F SIfETT - 11 F (570 e 541 -

GEaR! G ER
A (N QTP EEG | [ ATE(NE JUENT A0 A<

B. TR(UN 3 WINIEG [Qiaedl| I 2 Qoo

Question:

C. TifdeaarEy A MO CEIBAEEDRES

D. T 5N [RPBEITSH IV, AL BIA2GS GG

RfE
el [Rege 9= &7 Sed 91y Blaedr

A: A-IV, B-III, C-II. D-I
B: A-IV, B-IL, C-1. D-III
C: A-TIL B-IV, C-1, D-II
D: A-IV, B-III, C-I, D-II
Topic: Chemistry-Section B

Item No:

81




Question ID:

11694081

Question Type:

Numeric Answer

10 mL Fe?™ B9 AIHF WATAS SNFS 9IF 20 mL 0.02 M K,Cr,0, B

Question:
9= FA =W Fe2™ HIL TN T x 1072 M
Topic: Chemistry-Section B
Iltem No: 82
Question ID: 11694082

Question Type:

Numeric Answer

2NO + 2H, — N, + 2H,0
899 f[AfFEICEI 800 0C © 4TI F91 2e | (NS (TaeTe FERIY oy
I EGH

I= M IFEAGF | NOFAREF | A[RGF @9
Bl kPa BI¥kPa -
Question: | == p| (kPa/s)
Lodt
1 65.6 400 0.133
2 65.6 701 0.033
3 386 656 0214
4 192 636 0.106
NO s RiGmbe i zd |
Topic: Chemistry-Section B
Item No: 83
Question ID: | 11694083

Question Type:

Numeric Answer

fAREROT fvoTo THETHN WSMRGF JU T'F Na,y0. KO,. NO,, N,O,

Question:

Cl0,. NO, S0,. C1,0
Topic: Chemistry-Section B
Iltem No: 84
Question ID: 11694084

Question Type:

Numeric Answer




=7 51°M% g6 Wv*f (5729 NeTS SI*E1E@l 2'¢ 20.785 JK mol 1 300 K 9
ST 500 K 0¢7 5199 FIN® W@ 12w *ferg Af§ae~ 2'¢ 5000 71 5=

Question:
WHONS (STRLOE Va9 JYN ='F I
[Meoow =r4e ¢um] (M =g R = 8.314 T K mol )
Topic: Chemistry-Section B
Item No: 85
Question ID: 11694085

Question Type:

Numeric Answer

MO ©F =S, [WEFEeg A= A% IrFH~ WAl 4T Ao / WEES

Question: HALHIT =7+ I
CN-,NO™, 0,, 0,%, 0,%*

Topic: Chemistry-Section B

Item No: 86

Question ID: 11694086

Question Type:

Numeric Answer

Question:

310 K © CaF, 9 TA® HITST 21 2.34 = 107 ¢/100 mL | CaF,F BIA7@

TR B9 %1078 (1110L’I,j3 | (Give molar mass : CaF, =78 g mol'lj
Topic: Chemistry-Section B
Iltem No: 87
Question ID: 11694087

Question Type:

Numeric Answer

& CoCly(NH;), ¥ A6 Gibae 99 Af=ar=zel 1:1 [{ays [remrs via.

Question: 5
(STNEE G bAlEI ATANE (ToTel T |
Topic: Chemistry-Section B
ltem No: 88
Question ID: 11694088

Question Type:

Numeric Answer

WIHS WETNS KMnO,, WP WFeF ARGT Se, (<18 {777

Question:
PN T WTIE A{qod T |
Topic: Chemistry-Section B
Item No: 89
Question ID: 11694089

Question Type:

Numeric Answer




WATE H P TSl T 7 J6T ZATNZOTNIF R +12.6° W (+) TACINT

Question:

AR WO 6 <30° | AR ©Fel 2 %]
Topic: Chemistry-Section B
Item No: a0

Question ID: 11694090

Question Type: | Numeric Answer

faafee [igas

SO,H OH

. Oleum Nu{:u (excess)
Question: i ad
5t
| II

S RIGFATT % LA =6 60% A (ory [RIGE =7a 50% | 799
AT 5 T =e %] [[PEOY ST ST




